g iz

£k

[T 58

B

i

= |.L|‘ - [ | "?‘ :.
FS| H& RE RL o B{RESHE o HE# )\17124 &t
INT
1 | JkEER | BIM&LE | FZ | 513002XXXXXXXX2959 | 63.4 [82.29(74. 73| 1 &
2 X BIMEH | FZ | 513002XXXXXXXX1010 | 68.6 |78.71|74.67| 2 5
3 | WM | BRI | FZ | 513029XXXXXXXX0013 | 55.7 | 78.64(69.46| 3 5
Y I A T 3
4 S ’TE'EIE” 72 | 513029XXXXXXXX148X | 63.5| 86 77 1 s
Bl &3
CEEE Y
5 | KK TE'EE A 72 | 513021XXXXXXXX002X | 65.7 | 77.43(72. 74| 2 5
= il
| G EEEE
6 | X Tf'i%g Z2 | 513021XXXXXXXX3707 | 55.2|74.57|66.82| 3 | &
APz
b % e
7| B o Q2 | 513021XXXXXXXX5280 | 57.7 [85.71(74.51| 1 B
Bl A PE =
b % ek
8 | g o Q2 | 513021XXXXXXXX7297 | 66.2| 73 [70.28] 2 5
R W 23 "
oA
9 | HHELR L Q2 | 513029XXXXXXXX5774 | 58.6 [72.71]67.07| 3 5
WER | s -
X I %]
10 | pEfE ﬂ%ﬁfﬁg F1 | 500225XXXXXXXX1919 | 65.8 |79.14| 73.8 | 1 &
T
X I %]
11 | I+ ﬂﬁaii%ﬁg F3 | 513030XXXXXXXX802X | 67.7 |80.86| 75.6 | 1 &
B
X 53V 37
12 | ZZEH & E{i%fg F4 | 513001XXXXXXXX0868 | 63.3 |84.71|76.15| 1 &
— R ER
X I 7]
13 | fEEE ﬂﬁ{i%fg F4 | 513001XXXXXXXX0014 | 65.5| 76 |71.8| 2 5
— HR 51
X I %] A3
14 | sk&Hg ﬂmzt*%fg F4 | 513021XXXXXXXX5560 | 62.3| / / / e Eﬁﬁ
— HR 51 E




